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GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER-I EXAMINATION —Summer- 2019

Subject Code:3300004

Subject Name: ENGINEERING PHYSICS ( GROUP-1)

Time:10:30 AM to 01:00 PM

Instructions:
. Attempt All questions.

. Make Suitable assumptions wherever necessary.
. Figures to the right indicate full marks.

. Use of only simple calculator is permitted in Mathematics.

1
2
3
4. Use of programmable & Communication aids are strictly prohibited.
5
6

. English version is authentic.

Que. 1 Answer any seven out of ten. 2 Hizil SISURL Ald-AL oralot iUl

© N ®O NP ZUX P LW NS

S B R

Que.2 (a)

Write four names of derived physical quantities and its Sl unit.
212 ALAA AUASULDAAL LM, 2 Al HADUS BIsH Q.

Define meter.

Hl22edl carvan vyl

State Newton’s first law of motion.

A2l Al AU, (a1 Quil.

State hook’s law for elasticity.

[Rafdzarusdl Hi2 gl [aw quil.

Define cohesive and adhesive forces.

U [5d v BUA[5A AL AL 2L

Distinguish between conduction and convection.

GrHIAGA Vil GEHIAAA 922l dg1Ad DAL

What is resonance?

Viele 2126 4?2

Define wavelength and state its Sl unit.

AZAEOALS AL ALV DUUL DAl Aedl AU DUH VAL

Write full form of SWCNT and STM which are belongs to nanotechnology.
A5 AU SWCNT 24l STM <Al YL <M AV,

Define surface tension.

YRRl AvAL 2,

The main scale of Vernier calipers is calibrated in mm. If total number of
divisions on Vernier scale is 50 then calculate the least count.
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25 qelli seluddl Yoazsa HldlHl22 Hi vilsd s2al 89,671 d-l a4z 256 u2 50 [Aeuo
294l S dl A<l @y Hivalsd ol
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A micrometer screw gauge has a pitch of 0.5mm and 50 divisions on its
circular scale. Calculate the least count.

25 H1551H|22 251l {12 0.5 HlH] 244 A<l 41512 256 U2 50 [AR19L 2UAEL 69, d<{l @dLdH
HIu(sd L8l

Calculate the force acting on a body of mass 1000 grams moving with an
acceleration of 5 m/s?.

~ ~

5611000 UM £l 25 Uzl 5 Hl /42 L o1l oulA 5241 1A dl dell U= dLdtd, 6101 Ll

OR
State Newton’s second law of motion and prove F=ma.

244l [l ofloxl (44 quil 214 F=ma UL[61d, 521

Draw a neat sketch of micrometer screw gauge and labeled it.
UL 51122 250067 <l AmAzaaol usld 2ial.

OR
Explain positive and negative errors of Vernier calipers with suitable figures.

i1z sellud el At 21 280 321210 0133 2415(d AlsA uHmal.

Derived three equations of motion for uniform acceleration.
212401 UA(L oUfAdl AL U501 vl 2 ULG1d 521,

OR
Explain the law of conservation of momentum.
AL HRERLAL (P14, A1

State Stoke’s law for viscosity and explain it.
(98l HIZ 22151 (AR AV B A9l

OR
Write short note on Reynold number.
2e1ES 4012 UL Z5<llH Uil

Write down the equations showing relation between Kelvin, Fahrenheit and
Celsius scale.
seefld, 534612 2 AU HIUSH 22l HoiH £AAAL AL AL
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Que. 4
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Write a short note on thermal conductivity.
25l Quil: GEHIALSSAL

Water rises up to 1.4 cm in a capillary tube of radius 0.8 mm immersed
vertically in water. How far it will rise in a capillary tube of radius 0.2 mm?

0.8 HlHl Bl s1adl suoild wieilni Ge4 alisadl A1 wiell 1.4 A+l sx2g Gl 2s 9. ol
5940l Biorit 0.2 HIHL S dl dui uiell 526 Gizl 2292

OR
If we assume thread of the web of a spider to be circular then, radius of thread
is measured to be 3.57 x 10® m. Young modulus of thread is 200 MPa.
Assume mass of spider to be 0.001 kg then calculate the tensile strain in thread
when spider hangs from thread. (g = 9.8 m/s?)

52U[0ALAL AldBLLAL 29T AdLsIR HIZL @D Al d<dl Bioril 3.57 x 107 422 24 dl %L
HLLAdu 200 HALMISE 9. o0l 521 (N1 £ 0.001 [5UL 1L AL o212 52U diciu ue]
425 AR didMi Gemadl dpud [Aglq il (g=9.8 Hl/42)

Explain Laplace’s molecular theory.
ALl AL AALE HHAAL

OR
Discuss about the stress-strain diagram for elasticity.
[Rafdzarusdl 112 uldoio-[Asla <L sudvl 2241 53,

Write applications of ultrasonic waves.
vezlAlAs dZoliAlL GUALLL QU

OR
State Sabine’s formula for reverberation of sound and labeled each term.
ULAEIM HIZ HOUSAe, A AV B AL BUAAL 225 U], <M AV,

Give any four applications of nanotechnology in engineering field.
V[eor (201 83 Aell 25Ul SITURL AR GUALLL AL

OR
Explain refraction of light.
Us19U, A5 HAA UHMAL

Write properties of alpha, beta and gamma rays.
viesl, ofl2l 24 AL (52011 QRHAL QUi

Define specific heat and heat capacity. Also state their Sl units.
[Af22GrHL i GEHIALRAL ] L2ADAL UL AHAL DU, 2USHL UBL QU
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Differentiate: Transverse wave and Longitudinal wave
A5lAd UL QoA A0l el A3 A0l

If a wave having wavelength of 1700cm and frequency of 20Hz then find out

the velocity of wave.

-

41 516 d22ldl d2o1eionlss 1700 AHL 21 2414[d 20 ©29 S dl ALl 9oL 2.

Explain dispersion of light in short.
Uslold, [ARUsy Z5Hi uumAl,
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